



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{4} =$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{6}\right) - \frac{1}{5} =$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{2} =$$

$$\left(-\frac{3}{5}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{2}{5} =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{5} =$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{3} =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{2}{5}\right)^0 + \frac{2}{5} =$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{1}{2} =$$



名前: \_\_\_\_\_

日にち: \_\_\_\_\_ スコア: \_\_\_\_\_

$$\left(-\frac{1}{4}\right)^{(-1)} + \frac{3}{5} = \left(-\frac{17}{5}\right) = \left(-3\frac{2}{5}\right)$$

$$\left(-\frac{1}{2}\right)^{(-1)} - \left(-\frac{1}{4}\right) = \left(-\frac{7}{4}\right) = \left(-1\frac{3}{4}\right)$$

$$\left(-\frac{3}{4}\right)^2 - \frac{3}{4} = \left(-\frac{3}{16}\right)$$

$$\left(-\frac{2}{5}\right)^{(-1)} + \frac{1}{2} = (-2)$$

$$\left(\frac{3}{4}\right)^2 - \frac{1}{2} = \frac{1}{16}$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{183}{5} = 36\frac{3}{5}$$

$$\left(-\frac{1}{5}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{23}{50}\right)$$

$$\left(\frac{1}{6}\right)^2 + \frac{3}{5} = \frac{113}{180}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{2}\right) = \frac{7}{2} = 3\frac{1}{2}$$

$$\left(-\frac{1}{6}\right) - \frac{1}{5} = \left(-\frac{11}{30}\right)$$

$$\left(\frac{1}{4}\right)^{(-2)} - \frac{1}{2} = \frac{31}{2} = 15\frac{1}{2}$$

$$\left(-\frac{3}{5}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{3}{5}\right) = \frac{17}{5} = 3\frac{2}{5}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \frac{2}{5} = \frac{117}{20} = 5\frac{17}{20}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \frac{1}{5} = \left(-\frac{16}{5}\right) = \left(-3\frac{1}{5}\right)$$

$$\left(-\frac{1}{6}\right)^2 - \left(-\frac{1}{5}\right) = \frac{41}{180}$$

$$\left(-\frac{1}{2}\right)^0 + \frac{1}{3} = \frac{4}{3} = 1\frac{1}{3}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{4}\right) = \frac{5}{18}$$

$$\left(-\frac{2}{5}\right)^0 + \frac{2}{5} = \frac{7}{5} = 1\frac{2}{5}$$

$$\left(\frac{1}{6}\right)^{(-1)} + \frac{1}{2} = \frac{13}{2} = 6\frac{1}{2}$$